Year 2
Mental Maths
Test 3 Week 6

Yerm 2



Instructions

* Test 3 ( end of week 6)

 Listen carefully to each question. | will read
each question twice before you write your
answer



10 second response



Question 1

Write the number that
IS 6 tens and 9 units.



Question 2

/p add 13p



Question 3

What Is the difference
between 12 and 207?



Question 4

Double the number In
the box.

double ) IS |:|




Question 5

A lollipop costs 12p.
How much for two
lollipops?

12p



Question 6

What Is half of 307



Question 7

Fill In the missing
number.




Question 8

Divide 12p between 2
people? How much
will they each get?



Question 9

How many 2p coins do
you get for 18p?

18p = |:| 2p coins



Question 10

Write a multiple of 5
less than 25.



15 second response



Question 11

Sam’'s mum buys 2
birthday presents. One
costs £12, the other
costs £7. How much did
she spend altogether?



Question 12

Divide the shape on
your sheet In half.

VAN



Question 13

How much change
would I get if | had
50p. and spent 25p on
some Crisps.



Question 14

Peter has 8 litres of
lemonade. He shares
It between 4 people.
How much do they
each get?



Question 15

Half a litre of coke
costs 13p How much
would | litre cost?



10 Second Answers

. Write the number that is 6 tens and 9 units.(69)

. 7/p add 13p (20p)

. What is the difference between 12 and 20? (8)

. Double the number in the box (18)

. A lollipop costs 12pHow much for two lollipops? (24p)
. What is half of 30?7(15)

. Fill in the missing number (10)

. Divide 12p between 2 people? How much will they
each get?(6p)

9. How many 2p coins do you get for 18p? (9)
10. Write a multiple of 5 less than 25 (20,15,10,5)
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15 Second Answers

11. Sam’s mum buys 2 birthday presents. One
costs £12 the other costs £7. How much did she

spend altogether? (£19)
12. Divide the shape on your sheet in half.

13. How much change would | get if | had 50p. and
spent 25p on some crisps. ( 25p)

14. Peter has 8 litres of lemonade. He shares it
between 4 people. How much do they each get?
(2litres)

15. Half a litre of coke costs 13p How much would
| litre cost?(26p)



Hand Out

d
g
d Sis00 =20y |
02 = _H_ Xg
dg) st e yey | Gl L
Yaea s=alll| D
"ens | ¥l 9
d g1 dgg wouy aBueys d 1802 sdodiljo] Z
dez 3500 sdsuq | £ Az o| §
=] c |qnop
Cl ¥
3
g S8 AN c
d
0l G
sul02 dz = dglL _H_
6 |
-2le(] -SUEN

198Yg Jamsuy ¢ 1s@]
¢ 120Ig ¢ 1esA




References and additional resources.

The questions and ideas for this PowerPoint came from:
Wigan LEA Numeracy Centre
Year 2 Mental Arithmetic Tests

Thank You

PowerPoint template published by www.ksosoft.com

All the planning for this unit can be found at:
http://www.wiganschoolsonline.net/curriculum/maths/assess.shtm

Contains public sector information licensed under the Open Government Licence v3.0.
(http://www.nationalarchives.gov.uk/doc/open-government-licence/version/3/)

All images used in this PowerPoint was found at the free Public Domain Clip Art site. (https://openclipart.org/)
http://www.clker.com or were included in the original document.
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